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Assume any missing data suitably

Answer all the three full questions

MARKS | CO |RBT

1(a)

Design the longitudinal reinforcement for the beam of clear span 6m to support a design
working live load of 12kN/m. Adopt M25 grade concrete andFe 415 HYSD bars. Also

Show the detailing of reinforcements.

[15] Co3 | L3

2 (a)

Design a RC slab simply supported of Tm X 3m. Live load acting is 2kN/m’ and the
floor finish is 0.6 kN/m* Use M20 grade concrete and Fe 415 grade steel

[15] |co4| 13

3(a)

Deign a slab for a room of size 4m by 6m with discontinuous on all four sidesand

simply supported edges all the sides with corners prevented from lifting and supporting

a service load of 4kN/m2_Adopt M-20 crade and Fe-415 HYSD barsg|

[20] |co4| 13
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